exXxaMuN ON

Certified IT Exam Material Authority

Study

Braindumps

< HeLpr |

~. Online

e USEFUL

Pass Your Exam Now!
If Fail, Full Refund!

Accurate study guides, High passing rate!
We offer free update service for one year!
http://www.examunion.com




The safer , easier way to help you pass any IT exams.

Exam . NS0-184

Title . NetApp Certified Storage
Installation Engineer,
ONTAP

Version : DEMO

1/3



The safer , easier way to help you pass any IT exams.

1.Data ONTAP 9 supports which three features? (Choose three.)
A.SMB 3.0

B. NFSv2

C. SnapMirror

D. Infinite Volumes

Answer: ACD

2.You want to create a data volume on aggrO and you receive a message with the following warning:
"Warning: You are about to create a volume on a root aggregate.

This may cause severe performance or stability problems and therefore is not recommended. Do you want
to proceed?"

What is the reason for this severe performance or stability problem?

A. Controller failover and storage failover are separate processes that must occur in parallel, otherwise
problems will arise.

B. The performance load generated by the data volume can be very strong, so it should not be shared with
vol0 on aggrO0, requiring a separate aggregate for it.

C. The performance load generated by the vol0 cannot be shared with any other volume on aggr0, requiring
a dedicated aggregate for it.

D. Controller failover and storage failover are separate processes that must occur at different times,
otherwise problems will arise.

Answer: B

3.You are adding new controllers to an existing cluster. As part of the upgrade process, you have updated
the BES-53248 cluster switches. In this scenario.

Which two commands would you use to verify a healthy cluster after the upgrade? (Choose two.)

A. network port show -ipspace Cluster

B. network interface show -vserver Cluster

C. network device-discovery show -protocol cdp

D. network interface show -vserver Cluster -fields auto-revert

Answer: AB

4.You configured AutoSupport and are trying to send a full AutoSupport message to NetApp. You use the
autosupport history show command and see the output shown in the exhibit. The customer confirms that the
AutoSupport settings are correct.

cluster::> system node autosupport history show -node nodel

Seqg Attempt
Node Num Destination Status Count
nodel 1
smtp re-queued 13
http ignored 15
https failed 1S

Which two actions will solve this issue? (Choose two.)
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A. The customer needs to enable AutoSupport for both nodes.

B. The customer needs to exclude the two nodes from the attachment-size limitation.
C. The customer needs to change the transport protocol to HTTP.

D. The customer needs to white-list the two nodes on their mail server.

Answer: AC

5.Upon finishing the Installation of a new system for a customer, they request that you train them on how to
administer the system. In this scenario, which two responses are appropriate? (Choose two.)

A. Visit the NetApp MySupport Site and look for the Express Guides, they will guide you through the daily
tasks and provide input and output examples.

B. If you have a specific issue, you can visit the Knowledge Base Web site (https://kb.netapp,com).

C. The answers to any of your questions can be found on the NetApp SmartSolve site
(http://smartsolve.netapp.com).

D. You should open a case with NetApp Support for all future questions with low priority and include the
keyword "Training" in the title.

Answer: AC
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